

Apartment in Paola



Paola, South



€315,000

Reference No: 240461016-127

 Total Rooms: **5**

 Floor Area (m²): **94**

 Bathrooms: **1**

 Bedrooms: **2**

Apartment - For Sale - Paola

Paola - Apartment - This newly built freehold apartment is located in the heart of Paola. It boasts a roomy open-plan kitchen and living space, two bedrooms, a main bathroom, and two balconies—one facing the front and another at the back. The apartment is for sale fully finished, including internal doors and the bathroom. This is an excellent option for both living and investment in a well-connected area. Contact us to arrange a viewing.

Features

- ✓ Lift
- ✓ Entrance Hall
- ✓ Electricity Utility
- ✓ Skirting
- ✓ Balcony
- ✓ Ceramic Floor
- ✓ Water Utility
- ✓ PVC Piping
- ✓ Double Glazed

Rooms

- ✓ Kitchen/Living/Dining : 13.67 x 4.23 m (57.41 m²)
- ✓ Double Bedroom : 5.78 x 2.37 m (13.7 m²)
- ✓ Double Bedroom : 3 x 3.6 m (10.8 m²)
- ✓ Box Room : 1.55 x 1.3 m (2.02 m²)
- ✓ Bathroom : 2.87 x 1.56 m (4.48 m²)
- ✓ Open Space : 1.5 x 1.77 m (2.66 m²)
- ✓ Open Space : 2.95 x 1 m (2.95 m²)

Gallery





Kirsten Portelli

RE/MAX Professionals - Mosta

M: 77234545

E: kportelli@remax.com.mt

T: 27998977

RE/MAX Professionals - Mosta

24, Vjal L-Indipendenza, Mosta, Malta